

## Disclaimer

The solution at hand was written in the course of the respective class at the University of Bonn. If not stated differently on top of the first page or the following website, the solution was prepared and handed in solely by me, Marvin Zanke. Anything in a different color than the ball pen blue is usually a correction that I or a tutor made. For more information and all my material, check:

<https://www.physics-and-stuff.com/>

**I raise no claim to correctness and completeness of the given solutions! This equally applies to the corrections mentioned above.**

This work by [Marvin Zanke](#) is licensed under a [Creative Commons Attribution-NonCommercial-ShareAlike 4.0 International License](#).

15.04.2018

1) a) 
$$\mathcal{L}_{qq} = -\frac{g}{\sqrt{2}} \left\{ \bar{u}_{iL} \gamma^\mu W_\mu^+ d_{iL} + \bar{d}_{iL} \gamma^\mu W_\mu^- u_{iL} \right\}$$

where from the  $\mathcal{L}_{qq}$  term?

from  $\sum_j (q_L)_j \mathcal{L}(q_L)_j + \sum_j (q_R)_j \mathcal{L}(q_R)_j + \sum_j (q_L)_j \mathcal{L}(q_R)_j$

$$-\frac{g}{\cos\theta_W} Z_\mu \left\{ \bar{u}_{iL} \gamma^\mu u_{iL} C_L^{(u)} + \bar{d}_{iL} \gamma^\mu d_{iL} C_L^{(d)} + \bar{u}_{iR} \gamma^\mu u_{iR} C_R^{(u)} + \bar{d}_{iR} \gamma^\mu d_{iR} C_R^{(d)} \right\}$$

Coupling between right- (left-handed) in mass-term?  $m_q^2 Z_\mu$  with  $Z = Z_L + Z_R$

$$\mathcal{L}_{q\text{-mass}} = -\sum_{q=u,d} \bar{q}_{iR} (M_q)_{jk} q_{kL} \text{ th.c.}$$

where the indices denote the flavor generation (u,d like) and left- (right-handed) respectively.

are etc all spinors themselves? yes, are 4-comp spinors, while U acts in flavor space  $U_{ij}$ , n Spinors

Using  $U_q^L$  and  $U_q^R$  (unitarity traps) in order to diagonalize  $M_q$  and (re)defining  $q_L' = U_q^L q_L$ ,  $q_R' = U_q^R q_R$

as well as the fact that  $U_q^{L,R}$  and the  $\gamma$ -matrices act in different spaces and thus commute, we find

$$\mathcal{L}_{q\text{-mass}} = -\sum_{q=u,d} \bar{q}_{iR} (U_q^R)_{j\ell}^{\dagger} (U_q^R)_{\ell a} (M_q)_{ab} (U_q^L)_{bm}^{\dagger} (U_q^L)_{mk} q_{kL} \text{ th.c.}$$

$$\bar{U}_{ij} = \bar{q}_j U_{ji}^{\dagger} = -\sum_{q=u,d} \overline{(U_q^R)_{\ell j}} \bar{q}_{\ell R} (U_q^R)_{\ell a} (M_q)_{ab} (U_q^L)_{bm}^{\dagger} (U_q^L)_{mk} q_{kL}$$

$$= -\sum_{q=u,d} \bar{q}_{\ell R} \overline{(U_q^R)_{\ell a}} (M_q)_{ab} (U_q^L)_{bm}^{\dagger} q_{mL}$$

Why can it always be diag. (like this (2 different matrices)? otherwise no help to get to phys. mass eigenstates like this because general for a matrix that 2 different matrices

Inserting these relations in  $\mathcal{L}_{qq}$ , we find

$$\mathcal{L}_{qq} = -\frac{g}{\sqrt{2}} \left\{ \bar{u}'_{iL} (U_u^L)_{ki} \gamma^\mu W_\mu^+ (U_d^L)_{im}^{\dagger} d'_{mL} + \bar{d}'_{iL} (U_d^L)_{ki} \gamma^\mu W_\mu^- (U_u^L)_{im}^{\dagger} u'_{mL} \right\}$$

$$-\frac{g}{\cos\theta_W} Z_\mu \left\{ \bar{u}'_{iL} (U_u^L)_{ki} \gamma^\mu (U_u^L)_{im}^{\dagger} u'_{mL} C_L^{(u)} + \bar{d}'_{iL} (U_d^L)_{ki} \gamma^\mu (U_d^L)_{im}^{\dagger} d'_{mL} C_L^{(d)} + \bar{u}'_{iR} (U_u^R)_{ki} \gamma^\mu (U_u^R)_{im}^{\dagger} u'_{mR} C_R^{(u)} + \bar{d}'_{iR} (U_d^R)_{ki} \gamma^\mu (U_d^R)_{im}^{\dagger} d'_{mR} C_R^{(d)} \right\}$$

using that  $(U_q^L)_{ki} (U_q^L)^{\dagger}_{im} = \delta_{km} = (U_q^R)_{ki} (U_q^R)^{\dagger}_{im}$ , we find

$$L_{qq} = -\frac{g}{\sqrt{2}} \left\{ \overline{u}'_{kL} \gamma^\mu W_\mu^+ U_{km} d_{mL} + \overline{d}'_{kL} \gamma^\mu W_\mu^- U_{km}^{\dagger} u_{mL} \right\} \\ - \frac{g}{\cos\theta_W} Z_\mu \left\{ \overline{u}'_{kL} \gamma^\mu u'_{kL} C_L^{(u)} + \overline{d}'_{kL} \gamma^\mu d'_{kL} C_L^{(d)} \right. \\ \left. + \overline{u}'_{kR} \gamma^\mu u'_{kR} C_R^{(u)} + \overline{d}'_{kR} \gamma^\mu d'_{kR} C_R^{(d)} \right\}$$

✓ KM-matrix between spinors?   
 → yes, between vectors w/ indices

where  $U \equiv (U_u^L) (U_d^L)^{\dagger} \rightarrow U^{\dagger} = (U_d^L) (U_u^L)^{\dagger}$  KM-matrix

✓ why only U for left-handed and no right-handed?   
 → no flavor change possible for right-handed particles

b)  $L_{li} = -\overline{\nu}_{iL} \left( \frac{g}{2} W_{3\mu} + g' Y_L B_\mu \right) \gamma^\mu \nu_{iL} - \overline{e}_{iL} \frac{g}{2} \left( W_{3\mu} + i W_{2\mu} \right) \gamma^\mu \nu_{iL} \\ - \overline{\nu}_{iL} \frac{g}{2} \left( W_{3\mu} - i W_{2\mu} \right) \gamma^\mu e_{iL} - \overline{e}_{iL} \left( g' Y_L B_\mu - \frac{g}{2} W_{3\mu} \right) \gamma^\mu e_{iL} \\ + g' \overline{e}_{iR} B_\mu \gamma^\mu e_{iR}$

$e_i, \nu_i$  denote the different flavors

$$= -\overline{\nu}_{iL} \left\{ \frac{g}{2} (\cos\theta_W Z_\mu + \sin\theta_W A_\mu) + g' Y_L (\cos\theta_W A_\mu - \sin\theta_W Z_\mu) \right\} \gamma^\mu \nu_{iL} \\ - \overline{e}_{iL} \frac{g}{\sqrt{2}} W_{\mu}^- \gamma^\mu \nu_{iL} - \nu_{iL} \frac{g}{\sqrt{2}} W_{\mu}^+ \gamma^\mu e_{iL} \\ - \overline{e}_{iL} \left\{ g' Y_L (\cos\theta_W A_\mu - \sin\theta_W Z_\mu) - \frac{g}{2} (\cos\theta_W Z_\mu + \sin\theta_W A_\mu) \right\} \gamma^\mu e_{iL} \\ + g' \overline{e}_{iR} (\cos\theta_W A_\mu - \sin\theta_W Z_\mu) \gamma^\mu e_{iR}$$

✓  $W_{\pm}$  and hence the matrix of lepton Yuk. coupl. is diagonal. Why we chose diag. here - transitions between different families?   
 → phys. (mass) basis and flavor basis diagonal → no mixing between fam.   
 Matrices remain in mass term?

$Y_L = -1/2$   
 $e = g' \cos\theta_W \frac{1}{2}$   
 $= g' \sin\theta_W$

$$= -\overline{\nu}_{iL} \left\{ A_\mu (e_{iL} - e_{iR}) + Z_\mu \left( \frac{g}{2} \cos\theta_W + \frac{g'}{2} \sin\theta_W \right) \right\} \gamma^\mu \nu_{iL} \\ - \overline{e}_{iL} \frac{g}{\sqrt{2}} W_{\mu}^- \gamma^\mu \nu_{iL} - \nu_{iL} \frac{g}{\sqrt{2}} W_{\mu}^+ \gamma^\mu e_{iL} \\ - \overline{e}_{iL} \left\{ A_\mu (-e_{iL} - e_{iR}) - Z_\mu \left( -\frac{g'}{2} \sin\theta_W + \frac{g}{2} \cos\theta_W \right) \right\} \gamma^\mu e_{iL} \\ + g' \overline{e}_{iR} (\cos\theta_W A_\mu - \sin\theta_W Z_\mu) \gamma^\mu e_{iR}$$

$$= -\overline{\nu}_{iL} Z_\mu \left( \frac{g}{2} \cos\theta_W + \frac{g'}{2} \sin\theta_W \right) \gamma^\mu \nu_{iL} \\ - \overline{e}_{iL} \frac{g}{\sqrt{2}} W_{\mu}^- \gamma^\mu \nu_{iL} - \nu_{iL} \frac{g}{\sqrt{2}} W_{\mu}^+ \gamma^\mu e_{iL} \\ - \overline{e}_{iL} \left\{ -e A_\mu + Z_\mu \left( \frac{g'}{2} \sin\theta_W - \frac{g}{2} \cos\theta_W \right) \right\} \gamma^\mu e_{iL} \\ + \overline{e}_{iR} (e A_\mu - g' \sin\theta_W Z_\mu) \gamma^\mu e_{iR}$$

Where are right-handed positrons? And no left-handed electron with positron vertex?

✓ shaver form will save  $\gamma_5$    
 → just use propagandities

$W_{\mu}^{\pm} = \frac{1}{\sqrt{2}} (W_{\mu}^1 \mp i W_{\mu}^2)$

Looking at

$$L_{\text{mass}} = -\bar{l}_{iR} (M_e)_{jk} l_{kL} \text{ h.c.}$$

No (1) on  
2<sup>nd</sup> lepton  $l_{kL}$

and using  $V^L$  and  $V^R$  to diagonalize  $M_e$  s.t.

$$l_{iR} = V^R l_{iR} \quad \text{and} \quad l_{iL} = V^L l_{iL}$$

we find

$$\begin{aligned} L_{\text{mass}} &= -\bar{l}_{iR} (V^R)^{\dagger}_{je} (V^R)_{ea} (M_e)_{ab} (V^L)^{\dagger}_{bm} (V^L)_{mk} l_{kL} \\ \bar{l}_{iR} &= \bar{l}_{iR} V_{ji}^{\dagger} \\ &= -\overline{(V^R)_{kj} e_{iR}} (V^R)_{ea} (M_e)_{ab} (V^L)^{\dagger}_{bm} (V^L)_{mk} l_{kL} \\ &= -\bar{e}_{iR} (V^R)_{ea} (M_e)_{ab} (V^L)^{\dagger}_{bm} l_{mL} \end{aligned}$$

We thus find

$$\begin{aligned} L_{e,i} &= -\bar{\nu}_{iL} Z_p \left( \frac{g}{2} \cos \theta_w + \frac{g'}{2} \sin \theta_w \right) \gamma^{\mu} \nu_{iL} \\ &= \overline{(V^L)^{\dagger}_{ik} e_{kL}} \left\{ \frac{g}{2} W_{\mu}^{\dagger} \gamma^{\mu} \nu_{iL} - \bar{\nu}_{iL} \frac{g}{2} W_{\mu}^{\dagger} \gamma^{\mu} (V^L)^{\dagger}_{ik} e_{kL} \right. \\ &\quad \left. - \overline{(V^L)^{\dagger}_{ik} e_{kL}} \right\} - e A_{\mu} + Z_{\mu} \left( \frac{g'}{2} \sin \theta_w - \frac{g}{2} \cos \theta_w \right) \gamma^{\mu} (V^L)_{im} e_{mL} \\ &\quad + \overline{(V^R)^{\dagger}_{ik} e_{iR}} (e A_{\mu} - g' \sin \theta_w Z_{\mu}) \gamma^{\mu} (V^R)_{im} e_{mR} \\ &= -\bar{\nu}_{iL} Z_p \left( \frac{g}{2} \cos \theta_w + \frac{g'}{2} \sin \theta_w \right) \gamma^{\mu} \nu_{iL} \\ &\quad - \bar{e}_{kL} (V^L)_{ki} \left\{ \frac{g}{2} W_{\mu}^{\dagger} \gamma^{\mu} \nu_{iL} - \bar{\nu}_{iL} \frac{g}{2} W_{\mu}^{\dagger} \gamma^{\mu} (V^L)^{\dagger}_{ik} e_{kL} \right. \\ &\quad \left. - \bar{e}_{kL} (V^L)_{ki} \right\} - e A_{\mu} + Z_{\mu} \left( \frac{g'}{2} \sin \theta_w - \frac{g}{2} \cos \theta_w \right) \gamma^{\mu} (V^L)_{im} e_{mL} \\ &\quad + \bar{e}_{kR} (V^R)_{ki} (e A_{\mu} - g' \sin \theta_w Z_{\mu}) \gamma^{\mu} (V^R)_{im} e_{mR} \end{aligned}$$

No definition  
for  $V_L$  here?

using  $(V^L)_{ki} (V^L)_{im} = \delta_{km}$  and applying

$$V_L' = V^L V_L \Rightarrow V_L = (V^L)^{\dagger} V_L' \text{ to the neutrinos, we find}$$

$$\begin{aligned} L_{e,i} &= -\bar{\nu}_{kL} (V^L)_{ki} Z_p \left( \frac{g}{2} \cos \theta_w + \frac{g'}{2} \sin \theta_w \right) \gamma^{\mu} (V^L)_{im} \nu_{mL} \\ &\quad - \bar{e}_{kL} (V^L)_{ki} \left\{ \frac{g}{2} W_{\mu}^{\dagger} \gamma^{\mu} \nu_{iL} - \bar{\nu}_{iL} \frac{g}{2} W_{\mu}^{\dagger} \gamma^{\mu} (V^L)^{\dagger}_{ik} e_{kL} \right. \\ &\quad \left. - \bar{\nu}_{mL} (V^L)_{mi} \frac{g}{2} W_{\mu}^{\dagger} \gamma^{\mu} (V^L)^{\dagger}_{ik} e_{kL} \right. \\ &\quad \left. - \bar{e}_{kL} \right\} - e A_{\mu} + Z_{\mu} \left( \frac{g'}{2} \sin \theta_w - \frac{g}{2} \cos \theta_w \right) \gamma^{\mu} e_{kL} \\ &\quad + \bar{e}_{kR} (e A_{\mu} - g' \sin \theta_w Z_{\mu}) \gamma^{\mu} e_{kR} \end{aligned}$$

$$\begin{aligned}
&= -\overline{V_{kl}} z_{\mu} \left( \frac{g}{2} \cos \theta_{\omega} + \frac{g'}{2} \sin \theta_{\omega} \right) \gamma^{\mu} V_{kl} \\
&\quad - \overline{e_{kl}} \frac{g}{\sqrt{2}} W_{\mu}^{\pm} \gamma^{\mu} V_{kl} - \overline{V_{kl}} \frac{g}{\sqrt{2}} W_{\mu}^{\pm} \gamma^{\mu} e_{kl} \\
&\quad - \overline{e_{kl}} \left\{ -e A_{\mu} + z_{\mu} \left( \frac{g'}{2} \sin \theta_{\omega} - \frac{g}{2} \cos \theta_{\omega} \right) \right\} \gamma^{\mu} e_{kl} \\
&\quad + \overline{e_{kl}} \left( e A_{\mu} - g' \sin \theta_{\omega} z_{\mu} \right) \gamma^{\mu} e_{kl}
\end{aligned}$$

$$2) \quad \psi = \begin{pmatrix} \psi_L \\ \psi_R \end{pmatrix}, \quad P_L = \frac{1-\gamma_5}{2}, \quad P_R = \frac{1+\gamma_5}{2}$$

$$a) \quad \gamma_5 = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} \text{ in chiral basis, } \gamma^0 = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}$$

$$\Rightarrow P_L \psi = \begin{pmatrix} \psi_L \\ 0 \end{pmatrix}, \quad P_R \psi = \begin{pmatrix} 0 \\ \psi_R \end{pmatrix}$$

$$\mathcal{L}_{\text{Dirac mass}} = -m \bar{\psi}_R \psi_L + \text{h.c.}$$

$$= -m (\psi_R^\dagger \gamma^0 \psi_L + \psi_L^\dagger \gamma^0 \psi_R)$$

$$= -m \left( \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}^\dagger \gamma^0 \begin{pmatrix} \psi_L \\ 0 \end{pmatrix} + \begin{pmatrix} \psi_L \\ 0 \end{pmatrix}^\dagger \gamma^0 \begin{pmatrix} 0 \\ \psi_R \end{pmatrix} \right)$$

$$= -m \left( \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}^\dagger \begin{pmatrix} 0 \\ 1 \end{pmatrix} + \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}^\dagger \begin{pmatrix} 1 \\ 0 \end{pmatrix} \right) = -m (\psi_R^\dagger \psi_L + \psi_L^\dagger \psi_R)$$

$$= -m (\psi_R^\dagger \psi_L) + \text{h.c.}$$

$$b) \quad \psi^c \equiv C \bar{\psi}^T \stackrel{\leftarrow}{=} \text{Majorana spinor}$$

$$\text{with } C = i\gamma^2 \gamma^0, \quad \gamma^2 = \begin{pmatrix} 0 & \sigma^2 \\ \sigma^2 & 0 \end{pmatrix}, \quad \sigma^2 = \begin{pmatrix} 0 & -i \\ i & 0 \end{pmatrix} \text{ in chiral basis}$$

$$\psi = \begin{pmatrix} \psi_L \\ \psi_R \end{pmatrix} \Rightarrow \psi^c = i\gamma^2 \gamma^0 (\psi^\dagger \gamma^0)^T$$

The physical meaning of this condition is that the charge conjugation has no effect on the particle, i.e. particle and antiparticle are exactly the same (same phys. properties) and especially are neutral.

$$\Rightarrow \psi^c = i\gamma^2 \gamma^0 (\psi^\dagger \gamma^0)^T = i\gamma^2 \gamma^0 (\gamma^0)^T \psi^* = i\gamma^2 \psi^*$$

$$= i \begin{pmatrix} 0 & \sigma^2 \\ \sigma^2 & 0 \end{pmatrix} \begin{pmatrix} \psi_L \\ \psi_R \end{pmatrix}^* = i \begin{pmatrix} \sigma^2 \psi_R^* \\ -\sigma^2 \psi_L^* \end{pmatrix} \stackrel{!}{=} \begin{pmatrix} \psi_L \\ \psi_R \end{pmatrix}$$

$$\Rightarrow \psi_L \stackrel{!}{=} i\sigma^2 \psi_R^*, \quad \psi_R \stackrel{!}{=} -i\sigma^2 \psi_L^*$$

$$\Rightarrow \psi_L \stackrel{!}{=} \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix} \psi_R^*, \quad \psi_R \stackrel{!}{=} \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} \psi_L^*$$

$$\text{with } \psi_L = \begin{pmatrix} x \\ y \end{pmatrix}, \quad \psi_R = \begin{pmatrix} u \\ z \end{pmatrix}, \text{ we also get}$$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix} \begin{pmatrix} u^* \\ z^* \end{pmatrix} \Rightarrow x = z^*, \quad y = -u^*$$

$$\psi_L = \begin{pmatrix} x \\ y \end{pmatrix}, \quad \psi_R = \begin{pmatrix} y^* \\ x^* \end{pmatrix}$$

$$c) \quad C C^T = (i\gamma^2 \gamma^0) (i\gamma^2 \gamma^0)^T = i\gamma^2 \gamma^0 (\gamma^0)^T (\gamma^2)^T (-i) = \gamma^2 \gamma^0 \gamma^0 \gamma^2 = \gamma^2 \gamma^2 = -1$$

$$= -\gamma^2 \gamma^2 \gamma^2 \gamma^2 = (\gamma^2)^2 = -1$$

$$\Rightarrow C^{-1} = C^T$$

Quark and lepton mass term cannot be of this form (see lecture)?

All neutral particles would be Majorana spinors?

$$C^\dagger \gamma_5 C = C^\dagger \gamma_5 C = (\gamma^0 \gamma^3)^T \gamma_5 (\gamma^0 \gamma^3) = (\gamma^0)^\dagger (\gamma^3)^\dagger \gamma_5 \gamma^0 \gamma^3$$

$$= \gamma^0 \gamma^3 \gamma^0 \gamma^3 \gamma_5 \gamma^0 \gamma^3 = \gamma^0 \gamma^3 \gamma^0 \gamma^3 \gamma_5 = -(\gamma^3)^2 \gamma_5 = \gamma_5$$

$= (\gamma_5)^T$  in chiral basis

$$P_R (\psi_L)^c = \frac{1+\gamma_5}{2} C \bar{\psi}_L^T = C C^{-1} \frac{1+\gamma_5}{2} C \bar{\psi}_L^T$$

$$= C \frac{1+\gamma_5}{2} \bar{\psi}_L^T = C \left[ \bar{\psi}_L \frac{1+\gamma_5}{2} \right]^T = C \left[ \bar{\psi}_L P_R \right]^T$$

$$= C \left[ P_R \bar{\psi}_L \right]^T = C \left[ \bar{\psi}_L \right]^T = \bar{\psi}_L^c$$

Only chiral and Dirac basis?

$$P_L (\psi_L)^c = \frac{1-\gamma_5}{2} C \bar{\psi}_L^T = C \frac{1-\gamma_5}{2} \bar{\psi}_L^T = C \left[ \bar{\psi}_L P_L \right]^T$$

$$= C \left[ \bar{\psi}_L \gamma^0 \frac{1-\gamma_5}{2} \right]^T = C \left[ \bar{\psi}_L \frac{1+\gamma_5}{2} \gamma^0 \right]^T$$

$$= C \left[ \underbrace{P_R \bar{\psi}_L}_{P_R P_L \bar{\psi}_L} \right]^T = 0$$

d) Lagrangian =  $-\frac{1}{2} M_L (\psi_L)^c \psi_L + h.c.$

Noting that with  $\psi = \psi_L + \psi_R$  and  $\bar{\psi}_R = C \bar{\psi}_L^T = \psi_L^c$

we find for  $\psi$  w/  $\bar{\psi} (i\partial - m)\psi$ ,

$$\bar{\psi} \psi = \bar{\psi} (P_L + P_R) (P_L + P_R) \psi = \bar{\psi} (P_L^2 + P_R^2) \psi = \bar{\psi} \left( \left( \frac{1-\gamma_5}{2} \right)^2 + \left( \frac{1+\gamma_5}{2} \right)^2 \right) \psi$$

$$= \bar{\psi} \frac{1+\gamma_5}{2} \gamma^0 \frac{1-\gamma_5}{2} \psi + \bar{\psi} \frac{1-\gamma_5}{2} \gamma^0 \frac{1+\gamma_5}{2} \psi$$

$$= (P_R \bar{\psi})^\dagger \gamma^0 P_L \psi + (P_L \bar{\psi})^\dagger \gamma^0 P_R \psi = \bar{\psi}_R \psi_L + \bar{\psi}_L \psi_R$$

$(\psi_L)^c$  right handed now, so not the same particle?

$$\bar{\psi} \not{\partial} \psi = \bar{\psi} \not{\partial} \gamma^0 \psi = \bar{\psi} (P_L^2 + P_R^2) \not{\partial} \gamma^0 \psi = \bar{\psi}_L^T C \not{\partial} \psi_L + h.c.$$

$$= \bar{\psi} \frac{1-\gamma_5}{2} \frac{1-\gamma_5}{2} \not{\partial} \gamma^0 \psi + \bar{\psi} \frac{1+\gamma_5}{2} \frac{1+\gamma_5}{2} \not{\partial} \gamma^0 \psi$$

$$\stackrel{\int d^4x \partial_\mu \psi = 0}{\Rightarrow} \overline{P_R \psi} \not{\partial} P_R \psi + \overline{P_L \psi} \not{\partial} P_L \psi = \bar{\psi}_R \not{\partial} \psi_R + \bar{\psi}_L \not{\partial} \psi_L$$

$$\left| \bar{\psi}_R \not{\partial} \psi_R = \left( C \bar{\psi}_L^T \right) \not{\partial} C \bar{\psi}_L^T = \bar{\psi}_L^T C^\dagger \not{\partial} C \bar{\psi}_L^T \right.$$

$$= (\bar{\psi}_L \gamma^0)^\dagger C^\dagger \not{\partial} C (\bar{\psi}_L \gamma^0)^T$$

$$= \bar{\psi}_L^T (\gamma^0)^\dagger C^\dagger \not{\partial} C (\gamma^0)^T \bar{\psi}_L^*$$

it's a scalar  
so can be transposed  
(-) from fermions

$$= -\bar{\psi}_L^T \gamma^0 C^T \not{\partial} (\gamma^0)^T (\gamma^0)^T C^\dagger (\gamma^0)^T \bar{\psi}_L$$

chiral eq.

$$= -\bar{\psi}_L (i\gamma^0 \gamma^3) \not{\partial} \gamma^0 \gamma^3 (-i\gamma^0 \gamma^3) \gamma^0 \bar{\psi}_L$$

$$\stackrel{\text{chiral eq.}}{=} -\bar{\psi}_L (\gamma^0 (-\gamma^3)) \not{\partial} \gamma^0 \gamma^3 (-\gamma^3) \bar{\psi}_L$$

$$\left| (\gamma^0)^\dagger = \gamma^0 \gamma^0, (\gamma^0)^\dagger = \gamma^0 \gamma^0 \gamma^0 \gamma^0 \Rightarrow (\gamma^0)^\dagger = (\gamma^0)^\dagger (\gamma^0)^\dagger (\gamma^0)^\dagger = \gamma^0 \gamma^0 \gamma^0 \gamma^0 \right.$$

$$= -\bar{\psi}_L \gamma^0 \gamma^3 \not{\partial} \gamma^0 \gamma^3 \gamma^0 \gamma^3 \gamma^0 \bar{\psi}_L$$

why  $\bar{\psi}_L \psi_R$  not gauge inv?

only in same rep.?

what's  $\not{\partial}^T$ ?

(-) sign upon transposing?

$$= 2 \bar{\psi}_L \gamma^\mu \psi_L$$

Expressing  $\bar{\psi} (i\partial - m) \psi$  in terms of  $\psi_L$  thus yields

$$L = 2 \bar{\psi}_L \gamma^\mu \psi_L - m (\psi_L^c \psi_L + h.c.)$$

$$\Leftrightarrow L' = \bar{\psi}_L \gamma^\mu \psi_L - \frac{1}{2} m (\psi_L^c \psi_L + h.c.)$$

Shouldn't  $\psi^c$  be  $-\psi$  for  $\psi_L = \psi_L^c + \psi_R^c$   $\psi_R^c = -\psi_L^c$ ?

e)  $L_{\text{maj, mass, R}} = -\frac{1}{2} M_R \overline{(\psi_R)^c} \psi_R + h.c.$

We find  $\psi_L^c = (P_L \psi)^c = C \overline{P_L \psi}^T = C (P_L \psi)^\dagger \gamma^0)^T$   
 $= C (\psi^\dagger P_L \gamma^0)^T = C (\psi^\dagger \gamma^0 P_R)^T$   
 $= C (\bar{\psi} P_R)^T = C P_R \bar{\psi}^T = P_R C \bar{\psi}^T$   
 $= P_R \psi^c = P_R \psi = \psi_R$

$$\Leftrightarrow \psi_R^c = \psi_L \text{ as } (\psi_L^c)^c = \psi_L$$

thus  $L_{\text{maj, mass, R}} = -\frac{1}{2} M_R \bar{\psi}_L \psi_R + h.c.$

$$L_{\text{maj, mass, L}} = -\frac{1}{2} M_L \bar{\psi}_R \psi_L + h.c.$$

and  $(\bar{\psi}_L \psi_R)^{\dagger} = \bar{\psi}_R \psi_L$

$$\Leftrightarrow M_L = M_R$$

Can also express in components  $\begin{pmatrix} \psi_L \\ \psi_R \end{pmatrix}$  and add the 2 mass terms  $L = M_L \psi_L^{\dagger} \psi_R + M_R \psi_R^{\dagger} \psi_L$  (Hermitian!)  
 $= M_L \psi_R^{\dagger} \psi_L + M_R \psi_L^{\dagger} \psi_R$

Why transform  $\psi_L$  separately?

f) If  $\psi_L \rightarrow e^{i\alpha} \psi_L$  for U(1)<sub>Y</sub>  $\Rightarrow \psi_L^c = e^{-i\alpha} \psi_L^c$

$$\Leftrightarrow (\psi_L^c)^c = C \bar{\psi}_L^T \rightarrow e^{-i\alpha} \psi_L^c$$

$$\Leftrightarrow \overline{(\psi_L^c)^c} \psi_L \rightarrow e^{2i\alpha} \overline{(\psi_L^c)^c} \psi_L \text{ only invariant for } \alpha=0$$

but no particle like this in SM.  $Y(L) = -1/2$   $\Rightarrow$  Need  $2 \times \phi$  (one only)  $\Rightarrow$   $\phi$   $\Rightarrow$   $\phi$   $\Rightarrow$   $\phi$

Why shouldn't be non-renorm.  $\phi$  neg. cph?

With Higgs  $Y_\phi = 1/2$  and neutrinos  $Y_\nu = -1/2$ , we could

construct  $L_\nu = \bar{\nu}_L^c \phi \psi_L$   $\bar{L} + \bar{H} L^c = \frac{Y_\nu^2}{2} \bar{\psi}_L^c \psi_L^c$

Why v.e.v. and not Higgs?

$f_\nu \bar{L} H \bar{H} L$   $H = i\sigma_2 H^*$  (Before:  $\bar{L} H e_R$  Yukawa)

$\Leftrightarrow f_\nu \bar{\nu}_L^c \psi_L$  or  $f_\nu \bar{\nu}_L^c \psi_L$   $H = \begin{pmatrix} 1 \\ 0 \\ \sqrt{2} (v + h(x)) \end{pmatrix}$

$Y_\phi = 1/2$  or  $Y_\nu = -1/2$ ?